6.1 Practice - Greatest Common Factor

Factor the common factor out of each expression.

1) 9+ 8b> 2) 2—5

3) 4522 — 25 4) 1+ 2n?

5) 56 — 35p 6) 50z — 80y

7) Tab — 35a% 8) 27x%y° — T22°y?

9) — 3a?b+ 6a’b> 10) 8a%y* + 4z

12) —32n° + 32n% 4+ 40n°

11) —5z%—52% — 1524
14) 21 30 27
13) 20z* — 30x + 30 P30t
16) —10x*+202% + 12z
15) 28m™* +40m? + 8
18) 27y" + 1292z + 99>
17) 300° 4+ 5ab — 15a?

20) 30m8 + 15mn? — 25

19) — 48a?h* — 56a3b — 56a°b
21) 2028222 + 1525y%2 + 352393
) 027y 1507y "z 4 3507y 24) 30y*z3x° + 50y*2° — 109423

2 2 2
23) 5027y + 10y" + 70 2 26) 28b+ 1452+ 3517 + 7b°

25) 30gpr —5qp +5q 28) 30a8 + 6a° + 27a3 + 2142

27) —18n°+3n3—21n+3 30

)
) —
)
)
)
)
22) 3p+12q — 15¢%?
)
)
)
) —24a® — 4zt + 1223 + 42
) —

29) — 40z — 20212 4 50213 — 502 32) —10y" 4 6y — 4y — 85z

31) —32mn®+4mbn + 12mn* + 16mn
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6.1

Answers - Greatest Common Factor

1) 9+8p?

2) x —

3) 5(92% —5)

4) 1+ 2n?

5) 7(8 = 5p)

6) 10(5x — 8y)

7) 7ab(1 - 5a)

8) 92%y*(3y® — 8x)
9) 3a%b( — 1+ 2ab)

10) 42322 + 1)
11 2?(1+ x + 32?)
12) 8n°( —4n* +4n +5)
14) 3(7p®+ 10p*+9)
15

16

)
) -
)

13) 10(22* — 3z + 3)
)3
) 4(Tm* +10m3 + 2)
) 2

z(— 523+ 10z +6)

17) 5(6b” + ab — 3a?)
y*(9y° + 4z + 3)

19) —8a%b (6b+ Ta + Ta®)

18

20) 5(6m°+ 3mn?—5)
21) bady?z (422 + 322 + Ty)
22) 3(p+4q —5¢*r?)

)
)3
)
)
)
)
23) 10(5z%y + y* + Tx 2?)
24) 10y*2® (32° + 522 — 1)
25) 5q(6pr —p+1)
26)
)
)
)
) 4
)
) 2

27

5

Th(4 + 2b + 562 + b)
3(—6n°+n®—Tn+1)
3a

28) 3a*(10a%+ 2a%+ 9a +7)
29) 10z ( 4 —2x + 5% —5a?)
30) 42%(— 62* — 22+ 3z + 1)

31) 4mn(—8n"+m®+3n®+4)

32) 2y7( =5+ 3y> — 2zy3 — day)
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